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Exercise  01 

 

Let the two matrices be: 

 

𝐴 = (
1 −3
4 2

) 

 

𝐵 = (
5 0

−1 6
) 

Tasks: 

1. Compute: 𝐴 +  𝐵 

2.  Compute: 2𝐴 –  𝐵 

3.  Check whether 𝐴𝐵 =  𝐵𝐴 

4.  Find the determinant of 𝐴: 𝑑𝑒𝑡(𝐴) 

5.  If A is invertible, find the inverse: 𝐴⁻¹ 

 

Exercise  02 

You are given the following matrix: 

 

 

 

1. Compute the centered matrix (after subtracting the mean of each column) and the 
standardized matrix (after dividing by the standard deviation of each column). 

2. Compute the covariance matrix  
3. Compute the eigenvalues of the covariance matrix. 

 


